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Winmeen - Group 4 VAO General Studies Model Test 9

1) fl&FMTLL6M eTeiTLSI
A. Yol S5 &&HHEH S0
B.@mULIM& LI6T eU(BLD HMEFEF S(H&HEHLD
C. eTIlDL] 655 &1

D. eT&VILDL| 2_(H6UM&H6V

Rigor mortis means ____

A. Born muscle

B. Muscle contraction
C. Inflammation of bone
D. Synthesis in bone
2) SL&H&EITLUMMIET I0&EGLWD Lemmervig. &
81?7
A. umed emam Ll IreE&Fev LNw, L Gyl
B. umed LG memLIedl et
C. Umed QLI LeBBIIT 618 H) 65601
D. umedl srvemLifledr
Which of the following plastic is bio-degradable?
A. Poly hydroxyl butyrate
B. Poly propylene
C. Poly tetra fluoro ethylene
D. Poly styrene
3) QUNIH5S5.
LDBHS! - LIUI6oT LT
1) QLeTL Q6T 8 - a) eelelTemlnemnl &ifl
QF WIS

2) SOTTLORFE - b) BILOLGen6T
OB SSIS6V

3) 19T TETGG6m6VET - ¢) au6d Bleumyeoof]

4)  geriganlevflersmeTr - d)  2.L6v

QaULILIBlemEVEMU &6MME 560
A. 1-3;2-c; 3-d; 4-b

B. 1-d; 2-c; 3-b; 4-a

C. 1-a;2-d; 3-c; 4-b

D. 1-c; 2-d; 3-b; 4-a

Match the following.

1) Antipyretics — a) Cure allergies
2) Analgesics — b) Calm the nerves
3) Tranquilizers — c) Relieve pain
4) Antihistamines — d) Lower body temperature
A. 1-3;2-c;3-d; 4-b

B. 1-d; 2-c; 3-b; 4-a
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C. 1-3;2-d;3-c;4-b
D. 1-c; 2-d; 3-b; 4-a
4) 2. 6e0hHs UealHEaslly umMlw siflwmer
FaMml 6151?
1) @eflgailliumestmas LiweTLI(GSH M.
2) QeuIULIL(h &SI GUIMTEH HTauLnmE 6oTm Sl
3) 9yL8l6V LI6TOTL| & 606U GlLIMMIETENS.
4) Ggmedletr g S|WSSIDCUTS T B M.
A 1&3
B.1,2&3
C.2&4
D. 1,3 &4
Which of the following statements about dry ice
are correct?
1) It is useful refrigerant
2) On heating it turns into liquid
3) It has acidic properties
4) It causes burns when pressed against the skin
A 1&3
B.1,2&3
C.2&4
D. 13 &4
5) &MOILILTenSUN6L 2 6TeT I eM6uTSH Sl
ST Sa(BiHV LUMEH BIFLUTS 66T
@ TLemLWMs HEOLQLIMTSI 6T60TM
eflem&sn WMy Samwsi?
A. 5 T&S $5SI60
B. Blemevwimeot @& mL_LIM(H
C. aOeuorL. e
D. 9L &UIT 56D
No pairing occurs until all orbits of a given sub
shell are half filled — who said this?
A. Exclusion principle
B. Uncertainty principle
C. Hund's rule
D. Aufbau principle
6) Ml CeaugsH\lev GMILILNLLILL B eTer
srwsfl LESTL 585 CHFUMBEHES
TLILenl &L H6Tems)?
A. 918 60f
B. D&
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C. &G\ [Feor
D. Fmeilgif]
The Gayatri Mantra contained in the Rigveda is
dedicated to which deity?
A. Agni
B. Marut
C. Moon
D. Savitri
7) QBHHW TFFWevennLlIL] Iem6l
eMLD & & GeuevoT(h LD eTedrm C& T & 6em &6t
1936 oulb 6Tl Falq @HHW CHEFIW
sTHRIS v ______ eeoTm  @LSHev
FalQWCLIMSI MeUSH S SI.
A. STeTLT
B. LMbGU
C. eu&HGeorIm
D. VM&a[J
The demand for the Constituent Assembly was put
forward by the Indian National Congress in 1936 at
its session held at
A. Kanpur
B. Bombay
C. Lucknow
D. Lahore
8) eumettrL. Fleull LGB Serflev euem@pLD
5 T6UIJ Ml & 61T eTeu UM
P &ESILGHRMSI?
A. SCrmemLIL (86T
B. covamL_GrmenLIL(h &6t
C. TN emUL B\ &6iT
D. I5GsFmemLIL_(H 86T
Plants that grows in dry place are called as
A. Xerophytes
B. Hydrophytes
C. Epiphytes
D. Mesophytes
9) mlevaasFlullél 2 6Tem 6THSE FIGH6T IjLSl6v
LOEMLN & & &ITI6UTLO M TN S1?
A. &ITFL60T
B. &H&5 50
C. eMIBL_JeQ60T
D. 6mamL_[J&360T
Which particle in coal will cause acid rain?
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A. Carbon
B. Sulphur
C. Nitrogen
D. Hydrogen
10) GUMflwev &T(H &6 eTeiTLISI
A. evQeuerfl NG amiser

B. @emeow BT &T(H &6
C. 2arFUllemevss & (B S6IT
D. a1h 5T NJCsHEF &T(H &6
Boreal forest refers to
A. Savannah forest
B. Deciduous forest
C. Taiga forest
D. Tundra forest
11) srflunmereng C5THAS (.

1) FTEHHR I TFTHET @HS FLOWGSSL]
Nestumnileot.

2) FTEH&HS W S| TFTE6T & LD 6vOT
FLOWSMB WD 25 f1S56TT.

3) FMERGEHW  ITEFFT&HET 70 aleq s
GHMUWIN6LEEM6TE &L 19.UL|6ITET60T .
A 1&2
B. 2&3
C.1&3

D. M6ITSHSID
Choose the correct statement.
1) The chalukya rulers were the followers of
Hinduism.
2) The chalukya rulers were also patronized
Jainism.
3) The chalukya rulers had built around 70 Vishnu
temples.
A 1&2
B. 2&3
C.1&3
D. All
12) praqlqJaal S|JFTHM6T &FflWITE0T &IT6V
auflem&udlev 6T 6LD.
) &spsm 11
2) &\ (peqevorm 11
3) Gammallb & I
4) 9|1GLOM& QU I
A. 3-4-2-1
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B. 4-2-1-3

C. 2-4-1-3

D. 1-3-4-2

Arrange the Rashtrakuta kings in chronological
order.

1) Karka Il

2) Krishna III

3) Govindha III

4) Amoghavarshal

A. 3-4-2-1

B. 4-2-1-3

C. 2-4-1-3

D. 1-3-4-2

13) gflunmereng C&THAS M.

1) LAUTL CHTT UST UGH STFT
SLEUMH.

2) anjlLmew GSMINT STCETENVAITLD WMHMILD
BI&ETCSHTL GUTETM LIGH HeneT &).L9 1043-60
& LILMM6oTTH.

3) .19 12 9ylb BIHMITEOITIQ6) G F 6ITET60TS6iT
QL6vedlemwl emas LM Mmleori.

A 1&2

B.2&3

C.1&3

D. 96060TSHSILD

Choose the correct statement.

1) Mahipala Tomar was a ruler of Ajmeer

2) In 1043 AD Mahipala Tomar captured
Thaneswar and Nagarkot

3) Delhi was captured by the chauhans in the 12th
century

A 1&2

B.2&3

C.1&3

D. All

14) &iflwmenr samenm CHTHASMH.

) o LIGTeMT&H S M8 G LITem & uflev
siflsomer flH0 Q& W6eVT6L allg.6el
LIGT6ITE & T8 ) 60T &60) [T 56061
AH&HTEHGR M.

2) @01 Beorgl enliL Blemeulley i858 2ierme
LILQ 6| 86D 6IT G185 T600T L9.(TH & G LD.

A. 1l (b\b
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B. 2 0_(D

C.1&2

D. 618D &) 6V6DI6V
Choose the correct statement.
1) Active erosion on the river banks widen the V
shaped valley
2) River in its lower course has large quantity of
sediments

A. lonly

B. 2 only

C.1&2

D. None
15) mlevHH &S S Slemev LIMHMIw
FaHMIS6rfléL HeuMITEITS 6TSI?

1) @ T600TLITLD Bl6M6V {606V &6T.

2) Uweoorld QFWWWLEUMEl QUITIHL &H6emerT
LTI LTI (WD SSiLD.

3) Gaussld 5 &H).LS/QBTIY

A. 1L (b

B. 2 0D

C. 3L (b

D. 9M6UTSHSILD
Which of the following statement is not correct
about earthquake wave ‘S™?
1) It is secondary wave
2) This wave travel by the compression of earth
materials forward and backward in its direction
3) Speed 5 km/sec
A. lonly

B. 2 only

C. 3only

D. All
16) SHUMITH
CsTHOS M.

A . THCHTT — FH60TG6OTITEY

B. QFaTSH M6 — QL6v6ed

C. e &myiser — gjeubs

D. LMoV — GRTMSH
Choose the wrongly matched pair.
A. Rathore — kanuaj
B. Chauhan — Delhi
C. Prathihar — Avanti
D. Palar — Gujarat

QUITIHHS) W eTemTen s
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17) Fflumerens CHTHAS D).

1) HmBIms palTiflear FIHTLSSH W
LeVeved JFT  @UeoTL D S euFLneoT
ST,

2) Lebevall &HMevd &L QL HHemnev Hmelll
FHMVMWF FMTIHSHS.

A. 10 (b

B. 2 0D

C.1&2

D. 6781610 @)6L6Mm6V

Choose the correct statement.

1) Thirumangai Alwar was the contemporary of the
pallava ruler of Nandivarman II.

2) Pallavas architecture is the Dravidian style of
Architecture.

A. lonly

B. 2 only

C.1&2

D. None

18) BlyeunssSlev Q581585 EH5E
@ Lwerflg g Lmidleofl 8605 medr Wmy?

A (&L aqIT

B. \n&HW0& e 11

C. 9IHIDGI QT

D. QuUGTmeq.m

Which Bhamini sultan recruited Hindus in his
Administration?

A. Mohammad shah I

B. Mohammad shah II

C. Ahmad shah

D. Froz shah

19) &.BT QUIIGETISTIL WMHMID Feps
CupemeuuiledT QLMEHEH 2 MILILNerIHeT
6T600T 60011 & 600 &
A. 54

B. 50

C. 47

D. 45
The total number of members in UN Economic and
social council is
A. 54

B. 50

C. 47
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D. 45
20) o4 mITH Ceuwlifletr 2568 UL 60T &EH&FTayy
BTWESHT SL,60T6UTE&H6T WIT?
1) sleuggmell
2) 9L F A
3) rgGumedl II
4) Fleured] 11
A 1&2
B.1&3
C.2&4
D. S|6M6TSHSID
Who among the following rulers became the
Nayak of Thanjavur with the help of British?
1) Tuljaji
2) Amar singh
3) Serfoji II
4) Sivaji Il
A 1&2
B.1&3
C.2&4
D. All
21) pmuil @ememey WML OBH S
UBIGTTSH T (Glgenuiiiiey MMILD
&Hmelwev 2 flemngGemneT QUMHMTH?
A FITR 2.5 S6 eI
B. @9QIT &4,60LD
C. dy Gl
D. &QM 2.5 H6|6VIT
Robert Clive obtained civil and military rights of
Bengal from ____.
A. Siraj-ud-Daula
B. Shah Alam
C. Mir Qasim
D. Suja-ud-Daula
22) 1993 wevflg 2 flemn FLLGemG LHNIW
Frflumer gamenm CHTHASH®.
1) 1993 ©&CLTUF 12 960Tm CHHA W ool
2_flemLn QL,6m600T WD S{6emn& &L LS.
2) GEHW wWwells o flenld 660D
HOEVEIT 2 L LIL BTl GUT Q& IMeoorL
SlemLoLIL]
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3) GxHW Wefls 2 [flemnseT 3, 606007 WL
Femeval] 2 FFBFHINaTMHEOT Ul LM
BHLS <yeury.

A. 10 (b

B. 2 0D

C.1&2

D. 2&3

Regarding 1993 Human Rights Act provision
choose the correct statement.

1) National Human Rights commission was
established in october 12,1993.

2) National Human Rights commission consists
four members including the chairman

3) The chairman of NHRC is a retired Sc Judge.
A.lonly

B. 2 only

C.1&2

D. 2&3
23) FevoT6L LIMN W S6UMITET SaMMI 6TSHI?

1) GHem6UWITEOT LDEMLOWIGETE)| 200 Q& .1

2) GH6m6UUM6OT GleuLILID - 30°C

3) 6U6voTL_6L LD6voT FIMIHS ellememdaev &(hLD.
A. 10 (b
B. 2 LD
C.1&2
D.1&3

Which of the following is not correct about Jute?
1) Required rainfall is more than 200 cm.

2) Required temperature is 30°C.

3) Alluvial soil suitable for jute

A. lonly

B. 2 only

C.1&2

D.1&3
24) gflums QUM HS) W eTeTen S
CsTHOSM.

1) aum®  ueoll - Qeuefll  Heully
&HWHSILILIL 6t

2) QLT MGG WITETT& 6T - 5H15
&HWHSILILIL 6t

3) eumBIS LI Licoof] - Bev &S SILILIL 60
4)  SLITWUFRWmTISET -  QeueTemer
&HWHSILILIL 6t
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A 1&2
B. 2&3
C. 3&4
D.1&4
Choose correctly matched pair.
1) Bank service — Pink collar
2) Researchers — Gold collar
3) Bank service — Blue collar
4) Researchers — White collar
A 1&2
B. 2&3
C. 3&4
D.1&4
25) JmBI& L0SMeL LMHMID WSS &I
CUmeTMaUMEeMM SL LG WUl WITH?
A. 916U
B. ammmISF
C. Qaqreqr
D. QM & MeoT
Ranga Mahal and Peral Mahal were built by
A. Akbar
B. Jahangir
C. Shershah
D. Shajahan
26) QUTBHSTHOS CHTHAS .
A. UMISL, Q&ML SHT, G5 TG 6o
B. Q& 60T60)60T, LOMKIGe6THIT, (LOLD6DILI
C. 85600TL_6VIT, LOFLD GBsT6UIT, Q& TE & 6oT
D. NlFM&LILILIQ60TLD, TS &G, &600TL_6VIT
Choose odd one out.
A. Paradip, Kolkatta, Cochin
B. Chennai, Mangalore, Mumbai
C. Kandla, Marmagoa, Cochin
D. Vishakapattinam, Tuticorin, Kandla
27) graus RhsTarh S LSS T
SMeLVSLLLO
A. 1980-1985
B. 1985-1990
C. 1982-1987
D. 1984-1989
The period of Seventh Five year plan is
A. 1980-1985
B. 1985-1990
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C. 1982-1987

D. 1984-1989

28) UIBHLFMEUT HOLFFLLID Q& mevor(h
UL L 31600T(H 6TS1?

A. 1961

B. 1963

C. 1956

D. 1973

Dowry Prohibition Act was enacted in
A. 1961

B. 1963

C. 1956

D. 1973

29) Geusyny UTL& ummMw dammiserflev
S6UMITEOTS 6TS1?

1) UTL& B QUMM BIT6T eg®emev 10.

2) Geuay G&HIMLemL_ U6t QmIH VS SHeTLG
RNILITE.

3) UTL&lulledr CUNEI QF6ITENET LEBHT
@\ LI6DOT LY M.

A 1&2

B. 2&3

C. 1oL (b

D. 2 0D
Which of the following is not correct statement
about Vellore mutiny?
1) The date of Mutiny was july 10.
2) Vellore fort British General is Gradak.
3) The governor of Madras during mutiny was
Willam Bentick.

A 1&2

B. 2&3

C. lonly

D. 2 only
30) &CLp 2_eiTemeumnilev Qeuli
S| WEUTLOEUOTL 6V SITLLG60T LOJID {6LEVTSH S
81?7

A G35

B. eTGLIMT60T]

C. Q& LDLIOFLD

D. FIH&60TLD
Which one of the following do not belongs to
Tropical Evergreen forests?
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A.Teak

B. Ebony

C. Redwood

D. Sandal

3) mBML@B eUIBLOMETSHMS & 60018 S (h
QFWeuBeL &GP 2 eTemeumniley  erz
CFpmal?

A. QUHLOTEOTLD
B. Fen &L Lieoof & 60T
C. QFevey
D. 2 MmUGH
Which one of the following is not included in the
calculation of National Income?

A.Income

B. Social services

C. Expenditure

D. Production

32) eummert FaHenm C&THOS M.

) ueorg BICHEHHE5MS5 AMDSSHT
FHEHWENTEHH MBS HDHE meusSHaT
STLOTTRD.

2) HoULT GLJeT G Feretlnemeuuiley
IoBSTT.

A. 1L (b

B. 2 0_(D

C.1&2

D. 6T&Ia|LD &) 6V6DI6V

Choose the wrong statement.

1) Poondi Reservoir was constructed by
Sathyamoorthi and it was opened by Kamaraja.

2) British place of Tirupur Kumaran is
Chennimalai.

A. lonly

B. 2 only

C.1&2

D. None

33) 1917-60 Qeueflwmenr  QL&HVH
NGB WTY QFLUTERNHS CHFW
@W&SLD 6151?

A. 60HGETIT RLILIBSLD

B. 60T60T T & @) UIGH LD

C. ®eumUS @ UGN

D. 5 SI6MLPUITENLN @) UISHELD
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Which National Movement is lost its fame due to
1917 August Declaration?

A. Lucknow pact

B. Home Rule Movement

C. Khilafat Movement

D. Non Cooperation Movement

34) &MHH &HLBHS Q&MLVLILILLSM&TS “
LD eumpedlev sperfl LDEMMIH S 6TMIGLD @) [H6IT
GLHSI N LGl “ T6dTmI Saml6UF WITF?

A. 106)|600T L_GLIL_L_60T

B. yregmedl

C.Gmh@®

D. LGL6V

“ Light was hidden and Dark was surrounded us “
this statement related to the assassination of
Gandhi was said by
A. Mountbatten

B. Rajaji

C. Nehru

D. Patel

35) LN p&GLITe 6 (H
A. UTeFTEHHT(H
B. QLLpmEns&EemT(h)

C. LEFMHEHMT()

D. GLTGeTM&FM&HEHMT()

Fructoseisa _____.

A. Poly saccharide

B. Tetra saccharide

C. Disaccharide

D. Monosaccharide

36) @@ LT @H QBTH G&TETEMHM W
Famlweuy wmy?

A. QLIGOOTLIT LOMMILD JITLIFL

B. 2mieg LT Gev LoMmIDh LML L LD

C. (7Gau LoMMILD GLI6TOTLIT

D. LMLLLD LDMmMILD FTUyL
Theory of One Gene - One enzyme was propounded

A.Benda and Robert

B. George Beadle and Tatum
C. Duvae and Benda

D. Tatum and Robert

Learning Leads To Ruling
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37) SGCLp 2_eiTemeumnilev &erfliy
BCIMTLLBIS6IT eTem6u?

A GGITHRIWIT LDMMILD QLIH

B. LIGemmILIT Lo milh QLI(H

C.eumULIY WmMmih GCFmewim

D. UTUFLTY DMHMID QLI

Which of the following are cold current?

A. Kuroshio and peru

B. Florida and peru

C. Labrador and kuroshio

D. Labrador and peru

38) LMPMSMFGLOMEIT 6T60T 6MP&HSEHLILI(HLD
60 6uUL L LAl 6T 6TS51?

A. emaul_ L LoledT 1q.

B. emaul L LoledT &)

C. emauL_ L LO6T 6]

D. emaul_ L LdleoT L9

Name the vitamin which is called as
Parathormone?

A.Vitamin D

B. Vitamin C

C. Vitamin A

D. Vitamin B

39) @eveuF SLLMTW &evedl
TR WevenDLIL] FUSH S 6TSI?

A FU58I19 A

B. 50581208

C. 5U58l 21 A

D. 5758122 B
Article deals with free and compulsory education

Umlw

A. Article19A

B. Article 20 B

C. Article21 A

D. Article 22 B

40) eumweflev eSullelr HlemFCous:SHemS
UMS&HTS eT51?

A. QauliLIBlemev

B. 9|(0HSLD

C. Blemm

D. eTem)L

Which of the following do not affect the velocity of
sound in gas?
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A. Temperature

B. Pressure

C. Mass

D. Weight

41) e Mmenm Q&6 wesflwumliys
STUTMRIGET 6THS 2 6V&H S50 FMTHSSI?

A. Quomesflym

B. LLEFe0&F

C. LGImgenLIT

D. YeTmesorGL
Which of the following includes unicellular
Eukaryotic plants?
A. Monera

B. Fungi
C. Protista
D. Plantae
42) RuBP 6TedTLI S 6T60T60T?

A. flyGeumeiv-1,5 6oL LImMeruGLIL.

B. flLiGeumeiv-2-6oLI LIMeNGLIL.

C. flGumen-1,5 eoLl LImenGLIL

D. flGumev e Limeru@LIL
What is RuBP?
A. Ribulose-1, 5-Biphosphate
B. Ribulose-2-Biphosphate
C. Ribose-1-5-Biophosphide
D. Ribose Bisphosphate
43) eunal &) i 5Hems S ITLnmenflLILIeury
A. QIIFMHIGLD

B. 0SS W eUBIG)

C. @uevor(h\LD

D. 615160 G)6V6M6V
The Bank rate fixed by which authority?
A. Government
B. Central Bank
C.AandB
D. None
44) 5IeM60T GLQWITHS FHemevall] G785 60160
LBICSMLUIeUTS6T LMW FiflWimer & menm
CsTHOSM.

1) UM TE@BLOTMSSH D&
CHIHOFHHHEHLILL L LOMMILD
plwdlsslul L 2 milileriser G5 g e060
LIMI& QLUMIQITIEHET.

Learning Leads To Ruling
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2) IomBlev FLLneTm 2 mILIeoriseT @hs

G5 75696V LIMIEG GQILIM DML LTS,

A. 1oL (b

B. 2 0_(D

C.1&2

D. 6T&I|LD ) 6V6m6V

Choose the correct statement regarding election of
Vice-President?

1) It consists of both elected and nominated
members of the parliament.

2) It does not include the members of the state
legislative assemblies.

A. lonly

B. 2 only

C.1&2

D. None

45) UM MEBLO6ETMSH 60T @\(H |6 e6u & erfledr
GLlLeonulbnGg Seowply NG LUUS
wry?

A. ID&G&HETE06U & LITHTW ST

B. QUWT&FSH SHeM6VaUIT

C. LDMTBl6VMBIGETENEUS 5606Vl

D. YgsL0F

Who among the following summons the joint
sitting of both houses of parliament?

A. Lok Sabha speaker

B. President

C. Rajya Sabha Chairman

D. Prime Minister

46) 1971 v eumgeoorTEIUNGL FLOEVER (BB
seuaunifl 2 (Heurms euldl QFWIGeUT Wmy?

A. e16V6e0IWILD GQ\LI6TOTLY M6l

B. GLaL amG@iy

C. Q&H&HTCe

D. GQM6OTSH60T &Ml g60T
Who among the following was helped to establish
Sanskrit College at Banaras in 1791?
A. William Bentick
B. David Hare
C. Macaulay
D. Jonathan Duncan
47) G LD & 600T L6 M M1 61T
CsTHOS M.

&6UMITEITEM &
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1) 1857 gld 2L600T(h QLD LTl Fwimeors)
Wwsev QBT aGGemevl] GUITH  eTedrml
Faurmisy MU ®eTerTmy.

2) BT () QM QFUHGSSTeT FL LD 1878
LD 21,600T(H) Q&MevoT(heUTLILIL L Sl
A. 10 (b
B. 2 0L_(HLD
C.1&2
D. 6T8I6|LD @) 6V6m6V
Choose the incorrect statement.

1) Savarkar said that The Great Revolt of 1857 was
the first war of Indian Independence.

2) The Vernacular Press Act was enacted in 1878.
A. lonly

B. 2 only

C.1&2

D. None

48) QS TLQLIT(H6IT &) 60T 6UT 161 &5 60 6T L
UMgIsTUUSH e wWselb Usp Qumm
@ HH W emeU6rVITITUI WITH?

A. syFer Ly

B. flluesr oy

C. &8l Leor Ny

D. &meofiml LNy

Who had a passion for preserving ‘The Ancient
Monuments in India?

A. Lord Curzon

B. Lord Rippon

C. Lord Lytton

D. Lord Canning

49) 1780 e @HHWmelledT (WH6L
QFWRHSSHTENTEr GQUBEIST GCHFLEmL
QeuerfludiLLeury wimi?

A. Gglbev anjl&&)

B. GLITGLIT QMEOTENVIT TR

C. &FMJeven QL &mTEL

D. eamevamL_
Who published India’s first newspaper The Bengal
Gazette in 17807
A. James Hickey
B. Lala Hansraj
C. Charles Metcalfe
D. Halhed
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50) eTemL B sL0met & 6UTLOIT60T
S| &) & & erfl 661 2_L &5 6l 6ot
Blem6VLIL| & S 60T6M L0 & (S &ITIT6U0T LD T6OTS ]
T81?

A. LGIITLLITEOT - 6T6VEL_[TIT60T

B. 6T6L& L_I[TIT60T - [BIWL, L[ Te0T

C. 4GImLLmedr — mlw,L_[Jmedr

D. 6751610 @)6V6m6V

The stability of the nucleus of heavier atom is
determined by _____.

A. Proton - Electron

B. Electron — Neutron

C. Proton — Neutron

D. None

51) LBV GCHTHEL I 60)600TLITETEO [
Blwdluueuy wimy?

A. (NSHVDDEFEFIT

B. GIQWTESHSHN606UT

C. SLEBHY

D. 2wy BH6TMEH 60T Hemevemin HS LIS
Who appoints state election commissioner?

A. Chief Minister

B. President

C. Governor
D. Chief Justice of Highcourt

52) 73 SL6ugl FLL B (5555 S 60T LILY. L0 & &6iT

Q5 mem & udl 6ot g LemLuilev 6TH &
emelH@GS SBC 26T @@ LOMBlevid
@) 0Ll 6me6v (LEGFTWS S FUAH))
emwoLiemu 2 6TemTL& jemwoliLSesr

2_6U0TL.M& & (LLGWIMSI?

A. 8HE VL_FSHDHGLD GOMaITs

B. 20 ULFEHHMGSLD GMeUTSH

C.15 0L F5HMHGLD Genmalns

D.10 WL FSHHMGSLD GMeEUTSH

According to the 73rd Amendment Act which
specifies what amount of population of a state
may not constitute panchayats at intermediate
level ( panchayat samiti )

A. Less than 5lakh

B. Less than 20 lakh

C. Less than 15 lakh

D. Less than 10 lakh
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53) 1955 gyl o4,600T(H G9 W flemLn &FLL & 5 6T
Uy eassement euflserfley &L uwnflemwnenw
QUMEVITLD?

A 4

B. 5

C. 6

D. 7

According to the Citizenship Act of 1955 how many
ways have been prescribed for acquiring
Citizenship?

A 4

B. 5

C. 6

D. 7

54) eHhss5 Slemmuiley @HH wmellev
LeMUWNE CouemeuWileiTenly IS S&HIOMS
&TeooT LIRS M &1?

A. QgmSlevgienmuiley

B. Geuemevorenn Glemmuilev

C. GFemeaug glemmuilev

D. 9|WevsS Slemmuilev

In India disguised unemployment is more
prevalentin _____ sector.

A.Industrial sector

B. Agriculture sector

C. Service sector

D. External sector

55) Gl &S Tseflel &meursgmiquw sperf

& 61l FC & 178 60) & 8 & IT6UT F&EG)enW
Hefl&E@MEI. submler semev Hersemns
G&MUILNH 5.

A. 300 nm to 720 nm

B. 720 nm to 820 nm

C. 280 nm to 300 nm

D. 1100 nm to 1900 nm

Visible light of solar radiation supplies the main
energy for photosynthesis point out the
wavelength of visible spectrum?

A. 300 nm to 720 nm

B. 720 nm to 820 nm

C. 280 nm to 300 nm

D. 1100 nm to 1900 nm

Learning Leads To Ruling

Prepared By www.winmeen.com

56) S5 LD & 8 600TL_6UM MIGT (NS TIT 6uUMkIS 2 L 66T
QSTLIL6mL WS 6TSI?

A. ol (b &L6iT BIH

B. Bl6toT b1

C. eoflBUIT &L60T

D. 6UIT&60T &L_60T

Mudra Bank is related to which of the following
one

A. Housing finance

B. Micro finance

C. Personal loan

D. Vehicle loan

57) @eummieT 2. CeumsLICLITed 6LeVTH S
81?7

A. 816018 5 medT

B. &medlWiLDd

C. QggFLomeoflwild

D. 91,60TL_1q L060T]

Which of the following one is not a metalloid?

A. Silicon

B. Gallium

C. Germanium

D. Antimony
58) @BBW < GUWIHES Bl
GeuLumerrrfleor GOMNHSLILEF YNNE]
6TeUEUETEUMTS B)\(IH5& Geuetor(hLD?

A. 25

B. 30

C. 32

D. 35
The minimum age to contest in the election of
President of India is
A. 25

B. 30

C. 32

D. 35
59) &rflwimenr samenm CHTHAS M.

1) QUeTE 6T BTIDSHT QHTHBlemey 353 k.

2) QLmevelet BINGFH 6T Q&THBleney 384
k.

A. 1oL (HLb

B. 20 (D

C.1&2
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D. 6T8IQ|LD @) 6V6m6V

Choose the correct statement.

1) Boiling point of Benzene is 353 k.

2) Boiling point of Toluene is 384 k.

A. lonly

B. 2 only

C.1&2

D. None

60) CHICHMLIGEL @UWBI@GWL QUITH6T
& 60T (1)) 60T STVGmGLI QUTBSSI
HFCUHEHH gHUGBLD LMTMILITL ML
sTL(eugsl ______.

A. &ITeVID - HeFCous auemJLIL LD

B. &Meuld — N(BH &S 6UeDTLIL LD

C. &MeVID - @LLUIQUWITFS auenyLILLD

D. &M6VLD — QG ITEM6VEY GUEMTLIL LD

The variation in velocity with time for an object
moving in a straight line can be represented by a
A. Time — Velocity graph

B. Time — Acceleration graph

C. Time — Displacement graph

D. Time - Distance graph

61. The greatest common divisor of 2x%x - 1,

4x%+8x +3 is

a. 2x+1 b. x-1

C. 2x+3 d. 2x-1

2x%-x — 1, 4x*+8x +3 61 LBLIOL(H QUNE) 6uEGHSHS)

a. 2x+1 b. x-1

C.2x+3 d. 2x-1

62. Length and breadth of a room are 8 m and 5 m
respectively. A red colour border of uniform width
of 0.4m has been painted all around on its inside.
Then Area of the border is

a.9.76m? b. 12 m?

c.10.66 m? d.5.04 m?

815 Bempd 515 SiHeo(pd QEHMTEBTL (1 Hemmullest
o2l ywwrs  sHifleur  0.45  isevsSled  AsliL
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euetTTesOTLILIMEDS L FLILBEDG. &FLL  eussstesorLl
umenguilest LiTLiLIeNey Wng)?

3. 9.7615 <. 12 157
8. 10.6615 /v 5.0415?

63. Three equal circles of radius 3 cm touch one

another in outside. Find the area enclosed by them

a.10.88 cm? b. 1.45 cm?
c. 6.11 cm? d. 29.73 cm?
3 Q&5  SpTpsiTer eLpesTm) GUL_LTBIG6IT

gettemmGwnssTm| GeusrlGu QFTHLELING SieudmTed

GUU@ uGdlullsst LipiL
1. 10.88 QaLs? <. 1.45 Qai8”
@. 6.11 Qz15° /. 29.73 Q&1

64. Sum of the derivations taken from the

__________ is zero.

a. Median b. Mode

c. Mean d. Variance

________ eS\(BHS! M) 2 Ml gerflest

eflevganiserfletr ol (FECSTENS LLEFIILD Sp(SLb.

3. @emLEILILY EYNEC

@. gynaif . 6fl6V&& EUTHSHS FIMEf]

65. Mr. X borrowed Rs. 5000-on 7™ of June 2006
and returned it on 19" August 2006. Find the

amount he paid, if the interest is calculated at 7%

per annum.
a. Rs. 5140 b. Rs. 5070
c.Rs. 5210 d. Rs. 5280

S\(. X etv1LI6u17 7.6.2006 268TM) €. 5000 85 HL6vTNSSLI

Qubml iemg 19.8.2006 16v1m) (DL ClFNISSl6wTT.
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Sh6ToTeM(& 7% 61D 6Ully HETOTHSILLILILLTEY Si6ul]
QeSS QFTens; sTeueu6TTey?

a. Rs. 5140
c.Rs. 5210

b. Rs. 5070
d. Rs. 5280
66. Simplify: logs 4 + logs Hlo

al b.-1

c.-2 d.2

(6. 10gs4 +10g 5 —

100

a.l b.-1
c.-2 d.2
67. Simplify: -
’ Py e
x+2 x=2
a. > )
X“+2x+4 x“+2x+4
x+2 xX—2
C. > -
x“—=2x+4 x“—=2x+4
J— x3+8
BEES: 2 ixriie
x+2 x—2
a. o -3
xX“+2x+4 xX“+2x+4
x+2 x=2
C. = o -3
x“—2x+4 xc—2x+4

68. A and B together can complete a piece of work
in 20 days and B alone in 30 days. In how many
days can A alone complete the work?

a. 60 b. 50

c.10 d. 45

A wpmb B 4 SlGwiny Qemevstibg) 62( Ceusnevemw 20
BrsTfleyid HmIb B oL (Hib sevflwngs 18s Geuemevemw
30 mrerflepid (WigliLy stesflev A LB Sestlwins b
GousmsvemLl 61&86068T HT6TTl6L (LlolILIMT?

<1 60 4. 50

9.10 . 45

69. The ratio of the ages of the father and the son

at present is 19 : 5. After 4 years the ratio will

Learning Leads To Ruling
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become 3 :1. What is the sum of the present ages of
the father and the son?

a. 40 b. 42

c.48 d. 52

SH&LILI6HT LDHMILD

eI SHELTEnSW

Ul Guiwimest AL 19:5. 4
QUBLMEISEHSGL Ln@E Slsuiserflest euwg) 3 1 etettm
el eetTmmsd @(Heuflest HHGUMEMSW  uwest

ol (H&5OS T8 SIT6ToIS.

a. 40 b. 42
c.48 d. 52
70. If 13+23+3%+...+k%= 14400 , find the sum of 1

+2+3+ ... +k
a. 144 b. 169
c. 120 d. 441

1342343%+ ... +k3= 14400 , eteofled 1 +2+3+ ... +kebr
Fo(D&H6L 6T60T60T?

a. 144 b. 169

c. 120 d. 441

71. What is the total area of eight squares whose
sides are respectively 5cm, 6cm, 7cm, ..., 12 cm

b. 620 cm?

d. 675 cm?

a. 650 cm?
c. 600 cm?

5@&.15, 65, 7 Q&L ..... 12 Q&5 LSS 3i6TeySHem6TS

QanesoL 61U (5 FgInrisertett LIFLiLIeTey&6rt6tT Fa.(H360

6T65T60T?
3. 650Q15 3. 620 Qg8
@. 60005152 . 675 Q&152

72. Find the LCM of the following:
90 x%yz?, 150 xy?z? 225 x’y°z
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b. 15 x°y®z?
d. 450 xyz

a. 15 xyz

c. 450 x3y®z’
LesTeu(meuestumilest L5.G@ILIM.LD. &Tevor.
90 x%yz3, 150 xy°z? 225 x°y*z

b. 15 x°’y®z3
d. 450 xyz

a. 15 xyz

c. 450 x3y®z3
73.In a school of 720 students the ratio of boys and
girls is 7 : 5. How many more girls are to be
admitted to make the ratio 1:1?

a. 100 b. 110

c.120 d. 105

720 wrevsteurgeT Liufleyid LsiTerflullsd oy esoTER6IT MDD
Quessiserflest alllsn 7:5 opEw. QeuallHsseamsl 1

6T6sT  LOMMHM  6Teusustey  GLIETEIHEDST  Fa(h&H6VMS

BaisHa5G6ustoi(hD?
a.100 b. 110
c. 120 d. 105

74. A number is increased by 22 2 % and gives 98.
The number is

a. 45 b.18

c.80 d. 81

QU elesstenesst 22 1/2 % 2wijsgwGung 98

HlevLsHmg) 6Tevtl6d b eT6s0T
a. 45 b.18
c. 80 d. 81

75. A sum of money triples itself at 10% interest per

annum, over a certain time. Find the number of

years
a. 10 years b. 20 years
c. 25 years d. 15 years

Learning Leads To Ruling

Prepared By www.winmeen.com

@M GUUULL oigeonsrg 10% opetor(h  eullg
61555160 615561601 4,6TBT(HS6TT 60 CLYEITM| DL MBISM(EGLD?
3. 10 oy evo1(HSH6T . 20 peoo1(hSH6TT
8. 25 oy evo1(HSE6T . 15 oy evo1(n&6i

76. Find simple interest on Rs. 10,950 for 42 days at

10% p.a.
a.Rs. 116 b.Rs. 74
c.Rs. 126 d. Rs. 108

em. 10,950 e16t1m 1FVIEE 42 B S6iT6v p6voTieM(S)
10% gevtlauL iy (pemmuiled HlemL & @b UL ly eTeusu6TeY?
. ¢ 116 2. €. T4
@. em. 126

77. Which of the following is / are true

. e. 108

1) All divisors of a number are also
factors for that number
2) All factors of a number are also
divisors for that number
3) All divisors of a number need not be
factors for that number
4) All factors of a number need not be
divisors for that number
b. (1), (2)
d. All the four

a) (2), (3)
c. (1, (2).(3)

SpE&&HEETTLeUDMIET 6181/ sTemeu &iflwimesig)?
1) & eletotetilesT 6T6V6VT  6UEGHEHSHHEHLD
216UG\6U6BTTEBBI6BT S MITETTBETM(SLD.
2) & eTevvTevBNEoT  6T6VEVIT  BITEEOISETHLD

216UG\6U6TTTEBTT6DT 61 (8 FHHBHEMM(GHLD
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3) & eletuTertiletT  ETELEVT  EUGHSSHSH(EHLD
Si6uGleuettTessilett HMressllwng @(HESHS
Caemeuuilevemen

b. (1), (2)

d. SiemenE gD

a.(2),(3)

c. (1), (2), (3
78. Leela reads i of a book in 1 hour. How much of
the book will she read in 3 % hours?

5
a. b.=
8

XIN oo

C. d?
8
eSeurmr 1  ewofl Crrddlev i UGS Qb USSHH605

Ulp&H &6V, 3% wevsll GBISHlev eTeuausTey LGS Lilgss

Plpwib?

[ 5
Sl ; Sb

7 4
79. The sum of the series
1+3+45+........ to 25 terms is
a. 600 b. 625
c. 650 d. 675
1+3+5+ .. 25 2. mILs6T eueniy 2. 6iTem @SMLIfletT
&o.(h&H60
=1.100 4. 169
@. 144 . 125

80. Find out the wrong number in the sequence
125, 127, 130, 135, 142, 153, 165

a. 130 b. 142

c. 153 d. 165

125, 127, 130, 135, 142, 153, 165 stenid euflemsuilev

SHEUMITEDT 616357 SHITEBOIS.

=1.130 <. 142
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@.153 . 165

8l. u&emwn ISO FmeTMIgeny QUMM
@pHwmaller WsHev @ruiléy Mmlemeuwlid
eT81?
[A] QL6vel [B] emam&ymrLIng
[C] QsmeaTamnsE) [D] GuITLIMT6L
Which railway station has become the India’s
first-ever railway station to get green ISO
certification?
[A] Delhi [B] Hyderabad
[C] Guwahati [D] Bhopal
82. 2019 SLeUUTHET @MemMWIT LOCLEFIWIT
@LILeT WLUbBS CUTLIgemWw GleuedTmeuy
wmg?
Al Wanhs Sl
[B] 69 60T L_rTedT
[C] @& etT GUITMAI
[D] S evflarasm 23)evor1q M
Who clinched the 2019 men’s singles Malaysia
Open badminton tournament?
[A] Srikanth Kidambi
[B] Lin Dan
[C] Chen Long
[D] Sinisuka Ginting
83. GG JTeus 6THs 6NlememulmL (hLeor
QS TLFLjemLWe6U?
INERLIEIAL: [B] v 651D
[C]l &5 g155eamemnL  [D] BFF6L
Kushagra Rawat is associated to which sports?
[A] Cricket [B] Wrestling
[C] Boxing [D] Swimming
84. 2019 2. 6v8& H&EMHMT BeorsHeor (World
Health Day WHD) & (15 LI G\ LI IT(1H 61T 6T60T60T?
[A] eT WHSID: CUF WIbLNWkBIGeT -
Depression: Let's Talk
[B] 2_eussermeill LIMSISMLIL]: 6T6V6VMT[H& LD,
6TeveLT @)L MiGerflepiln — Universal Coverage:
Everyone, Everywhere
[C] 2_evoTey LIMGISTLIL] - Food Safety
[D] Brlfley ghu@eens Blmiss: Bilblene
@eu6eveUGl - Halt the rise: beat diabetes
What is the theme of the 2019 World Health Day
(WHD)?
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[A] Depression: Let's Talk

[B] Universal Coverage: Everyone, Everywhere

[C] Food Safety

[D] Halt the rise: beat diabetes

85. 2019 TEHh T CHITLIEMLIEMW Qeu6dTm 36007
81?

[A] eflgFum [B] @& emiymeiqq.om

[C]l suri s TarTLD [D] pull6LBeu 6ol
Which of the following cricket teams has clinched
the 2019 Ranji Trophy?

[A] Vidharbha [B] Saurashtra

[C] Bengal [D] Railways

86. GeOMbHSH UIbHGISGHemlev 50 [JeirsGeme
&LHS QHHW SKFl&QsL ey & eneor
wimg?

[A] amj et NS seyiy

[B] s 1S b & eot T

[Cletsm e s

[D] (678517 TE360T [B117(6h & 60T T

Who of the following Indian female cricketers has
scored fastest T20I fifty?

[A] Harmanpreet Kaur

[B] Smriti Mandhana

[C] Ekta Bisht

[D] Nagarajan Niranjana

87. 2019 AW LPG
& (5 LIG\LIIT(IH 61T 6T60T60T?
A]LPG - Safe for Life

B] LPG - Energy for Life

C] LPG — Spirit for Life

D] LPG — Reliable for Life

What is the theme of the Asia LPG 2019 Summit?
[A] LPG — Safe for Life

[B] LPG - Energy for Life

[C] LPG — Spirit for Life

[D] LPG — Reliable for Life

88. &FHeUGHF HMeworwd HIG WSS 60T
SHemevenln GILIMTIBETTHTT UCVTFHITH
QumMIUCGUMMIeTeT @hHSHW eubFmeuer]
SLEHEMLD WITT?

[AIKS@Aspm

[B] Gamueorm LIMySwim

[Cl&sm CarTlBTS

LOIT[HIT L L9 65T
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[D] ug W eurfluiy

Which Indian origin personality has joined IMF as
its first female Chief Economist?

[A] K S Chithra

[B] Shobhana Bhartia

[C] Gita Gopinath

[D] Padmasree Warrior

89. WS 6eumeug) FIeUCHEF
ANl MeTLICUIME G 6UTS S 2G0T HITLLg.60T
& (5 LIG) LI IT(IH 61T 6T60T60T?

[A] Flying for all

[B] Flying for Peace

[C] Flying for Harmony

[D] Flying for Brotherhood

What is the theme of the first-ever Global Aviation
Summit (GAS-2019)?

[A] Flying for all

[B] Flying for Peace

[C] Flying for Harmony

[D] Flying for Brotherhood

90. Fmeqsy ELm UMeL (SSB)@e6or LS W
5601606010 QWEHGSBHITS
Blwid&asLu LG eTemeury Wmy?

[A]l GO TTEReq FhH&\TT

[B] 21G6vr& euLOMT

[C] eMlG6us HwmH

[DIP S W& il

Who has been appointed the new Director-General
of Sashastra Seema Bal (SSB)?

[A] Kumar Rajesh Chandra

[B] Alok Verma

[C] Vivek Tyagi

[D] P S Mukherjee

9. EHF6T HLNOBHEH ST W6V
eflevorQeuerll e dHemevoreml (Sea — based
Space Rocket) Qeumnil&syons geflw BHIT@H
TSI1?

A) @BCsTGeradlWwim

B) WL BITLD

C) sgLimeor

D) Eeorm

Which country has successfully launched its first
sea-based space rocket from Yellow Sea?
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A) Vietnam

B) Indonesia

C) Japan

D) China

92. [HLLILIITEUOTLY.60T 2_6V& L1 GILI(IH MG &L 65 6iT
) 6075 &1 & 8 T6UT & (IH LG\ LIT(IH6IT 6T60T60T?

A) Gender and Oceans

B) Clean our Ocean!

C) Healthy Oceans, Healthy Planet

D) Our Oceans, Our Future

What is the theme of the 2019 edition of World
Oceans Day?

A) Gender and Oceans

B) Clean our Ocean!

C) Healthy Oceans, Healthy Planet

D) Our Oceans, Our Future

93. (PSH6VITEUSI 2608 2_600TeYLl LIMSISTLIL]
@eorid (World Food Safety Day), erh&s

Cx B udlev G SMTLILLTEULOTS
SFflEsLIULLSI?

A) 30607 7 B) 3607 8

C) &3®657 9 D) e3©60T 6

The first-ever World Food Safety Day has officially
observed on which date?

A) June 7 B) June 6

C) June 5 D) June 8

94. 2019 NQyEs&F eLiLI6T GLedTevll6n
CUMLIquilev, yL6ul eMHenmWT LILLSemS
QeueTMEUF WITy?

A) QLmdlevfld HQWILD

B) 7GLIGL [FL_IT6V

C) GBmaus CRTCHTaNE

D) Grmeay QUL

Who lifted the men’'s singles title at the 2019
French Open tennis tournament?

A) Dominic Thiem B) Rafael Nadal

C) Novak Djokovic D) Roger Federer

95. eTh& eletorQ6uerl HlMieueTID FFeUCHEF
eflevor@Qeuerfl MlemewwsHev (ISS) WH6L
S| M6TS Sl Q\L16vOT el evor QleuerflLl
LW 6ors6mg CLMQ S&TETH MmSI?

[A] Roscosmos [BI NASA

[C]ISRO [D] JAXA
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Which space agency has decided to carry out first
allfemale spacewalk at the International Space

Station (ISS)?
[A] Roscosmos [B] NASA
[C]ISRO [D] JAXA

9. @PHPW-OWHlEE LUHw  UNDP
GLemeuel SMa5IMES BIWAGSILLL BHUIF
wimg?

[A] Kal Penn

[B] Alpana Singh

[C] Padma Lakshmi

[D] Mira Nair

Which Indian-American personality has been
appointed as new UNDP Goodwill Ambassador?
[A] Kal Penn [B] Alpana Singh

[C] Padma Lakshmi  [D] Mira Nair

97. 2019 FFeuCs & W6y HergHeor (IWD)
& (5 LIG\ LI IT(IH 61T 6T60T60T?

[A] Women in the changing world of work

[B] Change is equal, alternative to smart, change
novelty

[C] Equality for women is progress for everyone

[D] 50-50 Planet by 2030: This is a step towards
gender equality

What is the theme of the 2019 Intermational
Women's Day (IWD)?

[A] Women in the changing world of work

[B] Change is equal, alternative to smart, change
novelty

[C] Equality for women is progress for everyone

[D] 50-50 Planet by 2030: This is a step towards
gender equality

98. HevoTL. GHITLD [HL6OTLOMLY. LIS W S etTevrery
2 6V FITSHENETEN W LIGOL & SI6T6IT 6uTH S 60TIT,
6THS BHTLEOLEF CFIHSHEUTTEUT?

[A]l @B wim [B] @B LIMETLD

[C] @evBIem s [D] L& e g medT
Bandana, who set anew Guinness World Record on
‘Longest Dancing Marathon by an Individual’, is

from which country?
Al India B] Nepal
C] Sri Lanka D] Pakistan
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99. HLLILIMTEUOTIQ6V 6GU(BHLD 2.60V8 @)emerLiL]
CHMU HOISHHEHETOT  &IHLGLITIH6T
6TGOT6OT?

[A] Better Air Better Breathing

[B] You Can Control Your Asthma

[C] Understanding Asthma

[D] Stop for Asthma

What is the theme of the 2019 World Asthma Day?
A] Better air better breathing

B] You Can Control Your Asthma

C] Understanding asthma

D] Stop for Asthma

100. @BHHW en&sLIUBS evollufiedr LS w
uWpSwrerymes BlwWO&sELILL B 6Temeuly
wimg?

Learning Leads To Ruling

Prepared By www.winmeen.com

[A] NemTQuUIemLnEN6LIT G860 FGULITEN &)
[B] g pm&se0r WWlemamBGeumadls (Dragan
Mihailovic)

[C] ellemmig AT GrGLmevails

[D] KN&Q&F6L &I CL

Who has been appointed as new coach of Indian
Volleyball Team?

A] Pryemyslaw Gaszyoski

B] Dragan Mihailovic

C] Valadimir Radosevic

D] Michel Sidibe
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Group 4 VAO General Studies Model Test 9 — Answer Key

1) B 21) B 41) C 61) A | 81 C
2) A2 A |42 A |62 | A | 82 B
3) B | 23) | A | 43 | B [ 63 | B | 83) | D
4) A | 2090 D |49 ] c [ 64 | c |84 | B
5) C 25) | D | 45) | B 65 | B | 85 | A
6) D | 26) | ¢ | 46 | D [ 66) | C | 8) | B
7) c | 27 B | 47 | D | 67) | A | 87 B
8) A [ 28| A [ 48 | A |68 | A | 88 C
9) B | 20) | D |49 | A [ 69 | ¢ | 8) | A
10) c | 3)] p |50 ¢ [70 ]| ¢ |[9) | A
11) D 31) B 51) C 71) B 91) D
12) A [ 32 | D 52) | B | 72 c |92 | A
13) B | 33 | B | 53 | B | 73 c [ 93 | A
14) c | 39 | ¢ 54y | B | 74 | C | 94 | B
15) B | 35 | D | 55 | A | 75 B | 95 B
16) D [3) | B | 5) | B | 7) | C | 9) | C
17) c |3n | o | 59| B [ 77| A | 97 | B
18) D | 38 | D 58) | D | 78) c |98 | B
199 | A [ 3) ] ¢ [ 59 | ¢ [ 79 | B | 9) | D
200 | D | 40) | B | 60) | A | 80) | D | 1000 | B

Learning Leads To Ruling
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